B3P AR ERHE oo
1128 45 K $28 BB LR AX 5 RSN %

gy | 4tx|pe Bt PRAK|BRFERA K| 8r | 348
AIB110704 |R313]| 18] 109.76 116.62 226 i i
AIB110711 |R412[12-8] # < 96.04 109.76 206 i i
BAR111701 [R410[7-3[ #+ 85.75 106.33 192 i i
ASC109803 |R313[4-6 | # < i i
ALA110138 [R413|5-1] # = i
ACS110115 [R412[4-2] # =+ 89.18 92.61 182 i i
AMU110131 [R410[5-6 | # = 82.32 99.47 182 i i
ADT109106 |R412[10-4| # < 82.32 96.04 178 i i
ASC109115 [R413[3-4[ #+ i
ALA111115 [R410] 54| &~ L i
ACS109135 [R413[ 26| # < i
ALA111809 |R413]5-3] # < i i
ASO111138 [R410]6-3] # < 72.03 99.47 172 i
AMU110705 |R410| 7-6 | # <+ 89.18 78.89 168 i i
AS0109110 [R412[3-2] # =
AIB109103 |R413[1-3] # =+
AIB110701 |R412[4-4] x =+
AS0109137 |R413[5-5] # <
AS0110113 [R313[9-7] # =
ADT108804 |R313|12-3] # <
AEC110114 |R313]12-6] # + 72.03 89.18 161 i
ALA110109 [R410|7-2] # < 65.17 96.04 161 | 7::%
AraiLsst [rers| 75 [ [
ACS105182 [R410[3-1] # =+ 65.17 92.61 158 | 7 it %
AIB109701 [R313[9-4] # = 78.89 78.89 158 | 7%
AS0109125 |R313[12-5] # < 61.74 96.04 158 | 7%
ATA109802 |R410[4-2] # = 65.17 92.61 158 | 7%
ADT110103 [R313|12-8] # = 65.17 89.18 154 | 7::%
AS0110132 [R412[3-3] # = 65.17 89.18 154 | 2%
AAR110104 |R410[3-2 | # < 75.46 78.89 154 | 7::%
AAR110119 |R313]| 1-4 [ # < 72.03 82.32 154 | 2%
ACA106801 F 68.6 85.75 154 | 7%
ACC109104 [R412]9-1] #+ 78.89 75.46 154 | 2%
ACC109121 [R413|7-3] # = 75.46 78.89 154 | 7%
ACS109106 |R413[2-2] # < 68.6 85.75 154 | 2%
ACS110137 |R412[34] # < 72.03 78.89 151 | 7%
AMU109111 [R410[3-5 | # < 51.45 99.47 151 | 7%




w7 | AMU109130 [R412[10-6] # < 61.74 89.18 151 | 7@
e v | ASP109802 [R410[2-3[ = :
== | ACS110851 |R412[12-7] 3 =
%- v | AEL111128 |R412[10-5] # <
=9 | AAR110126 |R313[10-5] # =+
» - v | AEC111107 |R410[ 41| = 65.17 82.32 147 | 7%
;2= v | ALA110119 |R313[12-4] # = 68.6 78.89 147 | 2@
2 - ALA111804 |R410] 14| = 54,88 92.61 147 | 2%
#c= " | AMAL10131 |R413] 4-4 | 3 = 58.31 89.18 147 | 2@
=9 | AAR110115 |[R313[33] #= 75.46 68.6 144 | 7%
#=v | AAR110117 |R313[3-2] #= 65.17 78.89 144 | 748
7= | ACS110102 [R412]1-3] < 54,88 89.18 144 | 744
» - v | AEC111851 |R413]6-3] 3 = 65.17 78.89 144 | 24
e v | ALA109146 |R413[2-4 # = 58.31 85.75 144 | 7%
w7 | AMU109133 |R413] 52| = :
#= v | ASC110130 [R412][9-5] 3 < 48.02 96.04 144 | 7144
%ibr 9 | ASO109107 |[R412] 14| < 48.02 96.04 144 | 244
#e v | ASP109851 [R410[1-1] 3= @
< 4]z © | ACC109138 |R413[6-1] <

fci-w 7 | ADT109804 |R412[12-3] 3 <
2= | AEC110118 |R413[ 4-1] 3 =
» = | AEC110120 |R413[3-5| &+
=5- v | AEC111121 [R412[4-5] 3 =
Bew v | AIB109801 [R412[3-6] %~
=7 | AMU110113 [R412[ 11 #= 65.17 75.46 141 | 2@
=" | AMU110120 [R412[ 15| #= 61.74 78.89 141 | 244
;2w v | ALA109136 |R413[2-3] # = 61.74 75.46 137 | 7ui®
;2= v | ALA110112 [R413]7-6 | 3 < 54.88 82.32 137 | 7 &

fcscr © | AMAL09115 |R413]5-6 | 3 = 7 i i
fcr 7 | AMA109145 |R412[12-6] 3 < 51.45 85.75 137 | 2@
#c= " | AMAL10130 |R410[ 1-6 | 3 = 65.17 72.03 137 | 748
s2= v | Asc109806 |R413[2-1] #< 51.45 85.75 137 | 2144

%z 9 | ASO110106 |R313[4-4| < 51.45 85.75 137 | 7%
Fw v | ACS109139 [R413[1-2] < 54.88 78.89 134 | 7%
#x 7 | AEC109103 [R412]9-7] # < 54,88 78.89 134 | 7438
;2= v | ALA110115 |R413[ 1-5] #= 48.02 85.75 134 | 7@
- 7 | AMAL11105 |R313[9-3| # < 48.02 85.75 134 | 748
#=9 | AAR110122 |R313[3-4| = 7 i i
# = | AEC110704 |R413[4-3] w < 65.17 68.6 134 | 7%

= v | AEL110117 |R410[4-4] #= 65.17 68.6 134 | 244




gcr © | AMA109118 [R413[3-3] < 65.17 68.6 134 | 7%
< 41z 7 | ACC109802 |R412][9-6] &~ 7 i i
gci-w © | ADT109144 [R313[4-7] #~ 51.45 78.89 130 | 74
%= 7 | AEL110132 |[R412[10-2] # < 58.31 72.03 130 | 74
«- v | AEL111116 |R313[9-1] #~ 58.31 72.03 130 | 7@
%7 - 7 | AEL111134 |R412[12-4] # < 65.17 65.17 130 | 7@
#i= 7 | AMAL10104 |R410[ 51 # < 61.74 68.6 130 | 74
#c= 7 | AMAL10109 [R410]2-1 ] &+ 44,59 85.75 130 | 74
w7 | AMU109801 |R410[7-4] 3 < 54,88 75.46 130 | 7%
% =" | AMU110127 [R413[5-4] # < 68.6 61.74 130 | 74
Filw 7 | ASO108141 |R410|2-2 [ # = 51.45 78.89 130 | 74
e v | Asol09143 [raio] o6 | = - |+
Filw 7 | ASO109144 [R410]6-2 [ # < 44,59 85.75 130 | 7%
:-= 7" | AAR110120 [R313[ 17| &~ 68.6 58.31 127 | 744
%= 7 | AAR110135 |R313|4-1] # =2 61.74 65.17 127 | 7
# - v | AEC111130 |R413[6-2] w2 54.88 72.03 127 | 744
Wee o | AIB109802 |R410[3-6| #+ i
x| ALA109130 |R412[12-2] # <
;2= v | ALA110140 |R413[ 16| <
> glw 7 | ACC109124 |R313[4-3| &+
#x v | AEC109801 |R412][9-4| <
#x v | AEC109802 |R412][4-7] &~ 61.74 61.74 123 | 72144
#cy- ¢ | AMAL11120 [R412] 92| < 58.31 65.17 123 | 2@
=9 | AMU110122 [R410[ 26| < 65.17 58.31 123 | 2@
s- v | ASC111104 |R412[3-1] # = 51.45 72.03 123 | 2@
Ab- 7 | ASO111141 |R410[ 13| &+ 68.6 54.88 123 | 7244
w7 | ADT109148 [R412]4-6 | # = :
B = APE110144 |R412[10-7] 3 =
sze 7 | ALAL109107 |R410[ 64| <
#= 7 | ASP110116 |R410[3-4] # <
gci-- v | ADT111147 |R410[ 75 # <
#- v | AEC110122 |R413[3-6| &~
c= v | AEL110105 |R413[2-5] <
@ | AMA111812 |R313[12-7] # <
%it- 7 | ASO111119 |R313]|1-6 [ # <
%4tz 7 | ASO110102 |R313][15] &+
g - ° | ADT111150 [R410[4-5] &<
w7 | ALA109148 |R313[10-7] # < i
g ° | AMAL09102 [R410[3-3| &+ i




#cr 7 | AMA109805 |R313[ 1-3] 3 <
w7 | AMU109123 [R413[ 32| <
=" | AMU110136 |R412[1-6 | # =
ficycr 7 | AMAL09120 [R413[3-1] # =
: w7 | AMU109135 [R413[ 7-4] # <
=" | AMU110132 [R410[6-1] =
s - v | ASC111130 |R410[2-5] 3 =
Filw 9 | ASO108802 |R413|1-1] w <
i 7 | AARI08119 #

£ -7 | AAR110136 |R313[12-1] # =
$7- v | BAR111111 |[R412[35] #=

-7 | AMA111110 | R313[10-6| # <
#e 7 | ASC108803 [R412[9-3[ # <
# = | AEC110703 |R413[ 4-2 | < 51.45 51.45 103 | 7%
23 - 7 | AEC111127 |R413]6-5] 3 = 41.16 61.74 103 | 7ii®
:z- 7 | ALA111807 |R413[4-6 | 3 < 7 i i
fcs- " | AMAL11137 |R413[ 1-4 | # = 44,59 58.31 103 | #iui®
zr v | AMU109112 [R313[9-2 | # = 58.31 44,59 103 | 78
=7 | AMU110111 [R412[ 17| #= i
e v | ASC109146 |R410[1-5] <
Ritz " | ASO110138 |R313[4-5| #+
#=9 | AAR110109 |R313[3-5[ # 48.02 51.45 99 7 i i
23 - v | AEC111138 |R413]6-4| 3 = 41.16 58.31 99 7 i i
:z- 7 | ALA111812 [R413[4-5] 3 < 20.58 78.89 99 7 i i
#c= " | AMAL10133 [R313[3-7| # = 41.16 58.31 99 7 i i
%ik- 9 | ASO111133 [R410[ 12| # < 44,59 54,88 99 7 i iF
fw v | AAR108802 |R412[12-1] # = :
< 4]z @ | ACC109806 |R413]6-6| <
£=v | AAR110108 |R313[ 12 #=
=7 | AMU110118 |R313[12-2] # =<
Fibr 9 | ASO109146 |R410[7-1] <
#ci-= 7 | ADT110101 |R313[4-2] 3 <
g~ - 7 | ADT111146 |R410[4-6 | 3 =
#cycr 7 | AMAL09109 [R410(5-3 ] 3 <
t =" | AMU110124 |R313|3-1| #=

sw o | ATA109803 [R410[4-3| &~
+» v | AMU109116 |R412[10-3] # <
@ = [ AMU110112 [R412[ 12| &=
- | AAR110133 |R313[3-6 | 4 %




AAR110139 [R313] 1-1[ 5y
ACC109123 [R412[3-7] sy
ACS109105 [R413[7-1] =iy
ADT109805 |R313[10-3] 5y
ADT111144 [R410[6-5 | vy
ADT111801 |R313][9-5 sy
AEC109141 [R313][9-6 | 4 %
AEC109901 |[R313[10-1] & %
AEL110114 |R412[12-5] & %
AEL111127 [R412]10-1] 5y
AMA110123 | R313[10-4] 4 %
AMU108131 [R412[ 4-1 5y

3 AMU109805 |R410( 5-5 | 5y

e AMU110109 |R412[ 4-3 | 53y

3= AMU110126 |R413[ 7-2 | 53y

= APE110151 |R313]10-2[ »- iy
5z ATA111126 |R410[5-2 [ 4 %

#e v | ASC108145 B




